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Part A: Choose the best choice a, b, c, or d to fill in the blanks.   

 

1. There is a lot of wind in the spring here. It is very …………….. in the spring.  

a. windful   

b. windable 

c. windly 

d. windy 

 

2. The fire had caused …………….. loss than we thought. 

a. greater 

b. enormous 

c. most   

d. much 

 

3. The sofa is big and expensive, because it is …………….. into a bed. 

a. exchangeable 

b. capable  

c. comfortable 

d. convertible 

 

4. There is a tough trade …………….. between Japan and Western countries.  

a. current 

b. satisfaction 

c. competition 

d. information 

 

5. Being a successful parent is a …………….. of hard work and good luck.  

a. combination  

b. tradition  

c. desperation 

d. completion 
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6. It was very …………….. to give her the news of her husband’s death.  

a. pretentious   

b. deciduous   

c. mysterious 

d. painful 

 

7. We could not store the food. There was no food …………….. in the house.   

a. store    

b. storage 

c. storing 

d. storeful  

 

8. They are studying the …………….. of accidents on this piece of road.  

a. appraisal   

b. occurrence   

c. release 

d. demand 

 

9. Millions of stars are …………….. to the naked eye.  

a. abnormal     

b. unfamiliar   

c. invisible   

d. undeveloped 

 

10.  People who work in libraries spend a lot of time to …………….. books. 

a. continue 

b. clarify 

c. appoint 

d. classify 
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11. The two countries’ …………….. has brought them a lot of economic success.  

a. Interference 

b. transactions  

c. authority   

d. celebration 

 

12. Dr Smith is assigned to …………….. the international conference.  

a. transmit 

b. suggest    

c. cooperate   

d. coordinate 

 

13. In this forest one can find oak trees more than other types. In other words, oak trees 

…………….. 

a. overpower   

b. overestimate 

c. prefer 

d. predominate 

 

14. When dieting, the sensible thing to do is to control your intake of carbohydrates instead of 

………….. them altogether. 

a. putting 

b. eliminating 

c. sharing 

d. upkeeping 

 

15. Cancer is a disease in which cells multiply without control, destroy healthy tissues and 

…………….. life.  

a. endanger   b. dispossess   c. deprive  d. dissolve 
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Part B. Choose a, b, c, or d which is the best meaning for the underlined part.  

16. You have to install a good alarm system to minimize the risk of burglary.  

a. reduce    

b. disqualify 

c. undertake  

d. undermine 

 

17.  Many Geysers erupt at irregular intervals.  

a. disintegrate 

b. force  

c. bound  

d. burst out 

 

18.  Beauty, even in the broader sense is independent of usefulness.  

a. free 

b. shared  

c. connected 

d. relied 

 

19. Talking to a group increases a child’s poise and his command of language. 

a. charm  

b. beauty 

c. physical growth 

d. self confidence 

20. Khayyam is an epithet, probably derived from his father’s trade.  

a. poet  b. tentmaker  c. mathematician  d. Philosopher 

 

      21. He was oversize and could not find a shirt to fit him.  

a. too tall   b. too big  c. large    d. thick 
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22. Since our lives seem to preclude free moments for ourselves, we must make a conscious 

effort to make the time.  

a. assign   

b. express  

c. relax 

d. prevent 

 

23. Outstanding examples of tile work decorate mosque walls, domes and minarets in Isfahan, 

the capital of Iran in 1600’s.  

a. tiles 

b. palaces 

c. round roofs 

d. Islamic places 

 

24. Very long ago, our ancestors felt the need  of for containers for water and food. 

a. officials 

b. Potters 

c. porcelain makers 

d. grandparents 

 

25. Research shows that many people who became criminals were neglected by their parents.  

a. were not freed 

b. were not discouraged 

c. were not taken care of  

d. were punished 

 

26. Many Eskimos and Indians still follow their traditional occupations- fishing, hunting, and 

trapping.  

a. behavior   b. habits  c. jobs   d. styles 
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27. The complicated designs of the Persian rugs often require months of labor to complete.  

a. colorful thread   

b. decoration plates  

c. work  

d. culture identity 

 

28. A healthy, strong and well-developed spine creates good posture and makes one feel alive 

and energetic.  

a. the position of body 

b. feeling 

c. structure 

d. the command of brain 

 

Part C. Read the following passages and answer the multiple choice questions. 

Passage A. 

 

         Earthquake is a shaking, rolling, or sudden shock of the earth’s surface. There may be as 

many as a million earthquakes in a single year. Most of them take place beneath the surface of the 

sea. Few of these cause any damage. But earthquakes that occur near large cities cause much 

damage and loss of life, especially if the cities rest on soft ground. The energy released by a large 

earthquake may equal that of about 200 million short tons of TNT. In other words, its energy may 

be 10,000 times as great as that of the first atomic bomb. The strength of an earthquake is 

measured on a scale of numbers called Richter scale.      

 

29. According to the passage, which of the following is NOT correct? 

a. There might be millions of earthquakes in a year. 

b. Some earthquakes are more powerful than atomic bombs. 

c. Some earthquakes take place under the seas. 

d. Most earthquakes cause damages. 
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30. The word these in the third line refers to ……………..  

a. Earthquakes 

b. seas 

c. surfaces 

d. places 

 

31. The Richter scale is used to ………………………………… 

a. measure how powerful an earthquake is. 

b. compare the strength of an earthquake to that of an atomic bomb. 

c. count the number of earthquakes in a year. 

d. compare the earthquakes that take place under the seas with those on soft ground. 

 

32. According to the passage, what kind of earthquake is the most dangerous? 

a. Those taking place beneath the sea surface 

b. The ones that occur near large cities that rest on soft ground 

c. The one that happen in a sequence 

d. Those that can be compared to atomic bombs 

 

Passage B: 

         Feeling tired, nervous, uptight? Take a deep breath. It’s one of the most relaxing and 

energizing things you can do. Try taking a deep breath right now. Feel how new energy spreads 

throughout your body. Now exhale. Feel the tiredness and poisonous substances leaving your 

body. Breathing is such an easy, natural, and healthful thing to do. It’s distressing that most 

people do not know how to do it correctly! 

       Correct deep breathing is, sad to say, a lost art, and breathing is the basis of all normal 

activities for all living things; for human beings it is the most crucial. It affects our state of health, 

our mental condition, our very life span. We can live days without solid food, but we can live 

only a few minutes without air.  
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33. According to the passage, correct and deep breathing is a …………….. 

a. distressing activity  

b. nervous breakdown  

c. lost art 

d. poisonous substance 

 

34. People who breathe correctly…………….. 

a. may live longer 

b. can live without food 

c. will feel tired and nervous  

d. may get mental problems 

 

35. According to the passage, which of the following is NOT a consequence of breathing 

correctly? 

a. spreading energy throughout the body 

b. improving life span 

c. feeling uptight 

d. feeling energetic 

 

36. What is the best title for the passage? 

a. how to breath correctly 

b. feeling tired and nervous 

c. the importance of breathing correctly 

d. how to live longer 
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Passage C:  

     Successful fishing requires much practice and study. A person can learn only from experience 

how to hook and play and tire out a fish properly. To catch a particular species of fish, an angler 

must study its habits-what it eats, the kinds of waters it lives in, and the water depth and 

temperature it prefers.  

   The habits of a fish influence the choice of bait, the fishing technique used, and the place 

chosen for fishing. For example, rainbow trout thrives in cool, clear streams with swift current. 

They often feed near the surface of the water, where the current brings them insects to eat. A 

favorite method of catching these fish is fly fishing with a dry fly, casting upstream. On the other 

hand, many kinds of catfish live in muddy lakes and streams near the bottom of the water. They 

find their food chiefly by smell or touch. Such fish may be caught by fishing near the bottom, 

using an odorous bait made of cheese, meat, or bread dough.  

 

37. What is the best title for the passage? 

a. Important points in fishing 

b. Problems of fishing 

c. Types of fishing  

d. Habits of fishing 

 

38. Odorous bait is used to catch the type of fish that …………….. 

a. live in cool, clear streams 

b. eat insects 

c. live in deep, warm waters   

d. find their food by smell or touch 

 

39. Which of the following is NOT considered important in fishing? 

a. Fish size  b. Water temperature c. Fish habits  d. Water depth 
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40.What is used as bait in fly fishing? 

a. A dry fly 

b. A piece of cheese 

c. Bread dough 

d. Small worms  

 

 Part D: Fill in the blanks with the appropriate choice (a, b, c or d) provided. 

Carbohydrates, what we commonly think of as starches and sweets, …………....(41)  the 

body with energy to work, to play, and to sleep soundly. They are found in a great ………….... 

(42)  of foods, including bread, cereals, macaroni, noodles, potatoes, rice, flour; starch vegetables 

………….... (43)  peas, beans, etc.; dried fruits; sugars and sweets, such as honey, and syrups. 

These foods ………….... (44)  heat and energy, but turn into fats and acids in the body if 

………….... (45) in great quantities. Since most basic foods ………….... (46) carbohydrates in 

satisfactory amounts, we generally get ………….... (47) carbohydrates without even trying. 

However, when we ………….... (48) in too many carbohydrates the surplus is ………….... (49) 

in the body as fat. That is why so many ………….... (50) cut them out entirely, which is a 

mistake.  

 

41.  a. create                b. provide  c. make  d. survive 

42.  a. variety                b. energy  c. specious  d. change 

43.  a. such                 b. handful  c. some  d. like 

44.  a. produce      b. burn  c. turn   d. change 

45.  a. watched      b. consumed c. dried  d. heated 

46.  a. use       b. make  c. contain  d. donate 

47.  a. out       b. ample  c. entire  d. too 

48.  a. control      b. indulge  c. check  d. feed 

49.  a. worked                 b. reduced  c. stored  d. prevented 

50.  a. foods      b. fruits  c. drugs  d. reducers      


